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•••• Ñi;k t k¡p dj ysa fd Hkk xHkk xHkk xHkk x–II ds bl iz'u-i= e sa e qfnzr i`"B 8 rFkk iz'u 30 gSaA 

 Please make sure that the printed pages in this question paper of Part-II are 8 in 

number and it contains 30 questions. 

•••• ijh{kkFkhZ viuk jksy  u a0 iz'u& i= ij vo'; fy[ksaA 
 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj y sa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl 
lEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; klEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; klEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; klEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; k     tk;sxkAtk;sxkAtk;sxkAtk;sxkA 

 Before answering the question, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; fu nsZ'k  %lkekU; fu nsZ'k  %lkekU; fu nsZ'k  %lkekU; fu nsZ'k  %     
General Instructions : 

    (i)    lHk h iz'u vfuok; Z gSaAlHk h iz'u vfuok; Z gSaAlHk h iz'u vfuok; Z gSaAlHk h iz'u vfuok; Z gSaA     
        All questions are compulsory. 
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    (ii) iz'u Øe kad 1 ls 30 rd oLrqfu"B iz'u gSaA izR;sd iz'u 1 vad dk gSA 
        Questions from 1 to 30 are objective type questions. Each question is of                  

1 mark. 

1. vory ysal ls cuu s oky s izfrfcEc lnSo gksrs gSa % 1 
(A) okLrfod (B) vkHkklh 
(C) mYVs  (D) bu esa ls dksbZ ugha 
Images formed by a concave lens are always :  
(A) Real  (B) Virtual 

(C) Inverted (D) None of these 

2. 'osr izdk'k dk blds vo;oh o.kks± (jaxksa½ esa foHkkt u dgykrk gS %   1 

(A) fo{ksi.k (B) izdh.kZu 
(C) ijkorZu (D) viorZu 
The splitting of white light into its components colours is called : 

(A) Dispersion (B) Scattering 

(C) Refraction (D) Reflection 

3. vfHkus= ysal jsfVu k ij fdl izdkj dk izfrfcac cukrk gS \  1 

(A) okLrfod o lh/kk (B) okLrfod o mYVk  
(C) vkHkklh rFkk lh/kk (D) vkHkklh rFkk mYVk 
Eye lens forms which type of image on Retina ? 

(A) Real and erect (B) Real and inverted 

(C) Virtual and erect (D) Virtual and inverted 

4. fo|qr  'kfDr dk S.I. ek=d gS %  1 

(A) oksYV  (B) vkse 

(C) okWV  (D) ,fEi;j 

The S.I. unit of electric power is :  
(A) Volt  (B) Ohm 

(C) Watt  (D) Ampere 



 ( 3 ) 106 

106/ II   P. T. O. 

5. fu Eufyf[kr esa ls dkSu tSaoe k= k ÅtkZ L= ksr dk mnkgj,k u gha u gha u gha u gha  gS \  1 

(A) ydM +h  (B) u kfHkdh; ÅtkZ 
(C) dks;yk  (D) xkscj xSl 
Which of the following is not an example of a bio-mass energy source ? 

(A) Wood (B) Nuclear energy 

(C) Coal  (D) Gobar-gas 

6. ck;ks-xSl e sa xSl gksrh gS % 1 

(A) izksisu  (B) C ;wVsu 
(C) bFksu  (D) e sFksu 
Which gas is present in bio-gas ? 
(A) Propane (B) Butane 

(C) Ethane (D) Methane 

7. thok'e b±/ku ds ngu ls d kSu -lh xSl mRiU u ugha ugha ugha ugha gksrh gS \   1 

(A) dkcZu eksuksvkWDlkbM (B) d kcZu MkbvkWDlkbM 

(C) vkWDlhtu (D) lYQj M kbvkWDlkbM 

Combustion of a fossil fuel does not produce : 

(A) Carbon monoxide (B) Carbon dioxide 

(C) Oxygen (D) Sulphur dioxide 

8. iou pDdh esa iou dh ……………. ÅtkZ dk mi;ksx ;kaf=d  d k;ks± ds d jus esa gksrk gSA 1 

(A) fLFkfrt ÅtkZ (B) xfrt ÅtkZ 

(C) fo|qr ÅtkZ (D) jklk;fu d Åt kZ 

A windmill converts…………….energy of wind into mechanical work. 

(A) Potential Energy (B) Kinetic Energy 

(C) Electrical Energy (D) Chemical Energy 
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  9. xaxk lQ kbZ ;kst uk dk vkajHk izFke ckj fdl o"kZ esa gqvk Fkk \  1 

(A) 1980 (B) 1985 

(C) 2005 (D) 2016 

The Ganga Cleanliness scheme was started for the first time in the                       

year : 

(A) 1980 (B) 1985 

(C) 2005 (D) 2016 

10. ^fpidks vkUnksy u* fdlls lacaf/kr gS \   1 
(A) ck?kksa ls (B) VekVjksa ls 
(C) ou ksa ls (D) d Nqvksa ls 
The 'Chipko Andolan' is associated with : 

(A) Tigers (B) Tomatoes 

(C) Forest (D) Turtles 

11. ft u vfHkfØ;kvksa esa ÅtkZ vo'kksf"kr gksrh gS mUgsa ……………. vfHkfØ;k dgrs gSaA 1 
(A) Å"ek{ksih (B) Å"ek'kks"kh 
(C) foLFkkiu  (D) la;kstu 
Reactions in which energy is obsorbed are known as ……………………. 

reactions. 
(A) Exothermic (B) Endothermic 

(C) Displacement  (D) Combination 

12. jsMkWDl vfHkfØ;k e sa D;k gksrk gS \  1 

(A) vip;u (B) mip;u  
(C) mip;u-vip;u (D) bu esa ls dksbZ ugha 
What happens in a Redox Reaction ?  
(A) Reduction (B) Oxidation 

(C) Oxidation-Reduction (D) None of these 

13. dksbZ foy;u uhys fy Ve l dks yky dj nsrk gS] bldk pH gksxk \  1 

(A) 10  (B) 13 

(C) 7  (D) 4 
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A solution turns blue litmus red its pH is : 
(A) 10  (B) 13 

(C) 7  (D) 4 

14. dkSu-lh /kkrq d ks Hk.Mkj.k d s fy, fdjksflu esa Mqckd j j[k tkrk gS \   1 

(A) ikjk  (B) lksfM ;e 
(C) czkse hu  (D) y ksgk 
Which metal is kept immersed in kerosene for storing ? 

(A) Mercury (B) Sodium 

(C) Bromine (D) Iron 

15. ,syqfe fu ;e d k by sDVªk¡fud foU;kl gS % 1 

(A) 2, 8, 1 (B) 2, 8, 8 

(C) 2, 8, 3 (D) 2, 8, 2 
Electronic configuration of Aluminium is : 

(A) 2, 8, 1 (B) 2, 8, 8 

(C) 2, 8, 3 (D) 2, 8, 2 

16. dkcZu dh la;kstdrk gS % 1 
(A) 2  (B) 3 

(C) 4  (D) 5  
Valency of Carbon is : 

(A) 2  (B) 3 

(C) 4  (D) 5 

17. esFksu dk vkf.od  lw= gS % 1 
(A) 4CH   (B) 62HC  

(C) 83HC  (D) 104HC  

Molecular formula of Methane is : 

(A) 4CH   (B) 62HC  

(C) 83HC  (D) 104HC  



 ( 6 ) 106 

106/ II 

18. dsoy dkcZu ,oa gkbMªkstu okys lHkh dkcZu ;kSfxd dgykrs gSa % 1 
(A) ,sYdksgy (B) gkbM ªksdkcZu  
(C) ,sYM hgkbM (D) d hVksu 
The carbon compounds which contain just carbon and hydrogen are called : 

(A) Alcohal (B) Hydrocarbons 

(C) Aldehyde (D) Ketone 

19. ikniksa e sa xSlksa d k vknku-iznku fdl lrg ls gksrk gS \ 1 
(A) tM+  (B) ifÙk;k ¡ 
(C) ru k  (D) mijksDr lHkh  
In plants the exchange of gases occur across surface of : 

(A) Root  (B) Leaves 

(C) Stem (D) All of the above 

20. ik;#osV ds fo[kaMu ls ;g dkcZu M kbvkWlkbM]  t y rFkk ÅtkZ nsrk gS vkSj ;g fØ ;k gksrh gS % 1 
(A) dksf'kdk nzO; (B) gfjr y od  
(C) ekbVksdkWfUMª;k  (D) d saUnzd   
The breakdown of pyruvate to give carbon dioxide, water and energy takes 

place in : 

(A) Cytoplasm (B) Chloroplast 

(C) Mitochondria (D) Nucleus 

21. fu Eufyf[kr esa ls fdl inkFkZ dk tBj xzafFk;ksa }kjk L= ko.k ugha ugha ugha ugha gksrk gS \ 1 
(A) isfIlu  (B) fVªfIlu 
(C) 'y s"ek  (D) gkbM ªksDyksfjd  vEy 
Which one of the following substance is not secreted by gastric glands ?  
(A) Pepsin (B) Trypsin 

(C) Mucus  (D) Hydrochloric acid 

22. gekjs 'kjhj esa fu ;a= .k ,oa leU o; d k dk;Z gkeksZu rFkk ……………. }kjk gksrk gSA 1 
(A) efLr"d (B) izfrorhZ pki 
(C) raf= dk ra= (D) jklk;fu d leUo; 
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Control and co-ordination are the functions of the hormones and ………….. in 

our body.  
(A) Brain (B) Relex arc 

(C) Nervous system (D) Chemical co-ordination 

23. es# jTt k fdlls jf{kr gksrh gS \ 1 
(A) diky  (B) d 'ks#d naM 
(C) ily h  (D) bu esa ls dksbZ ugha 
Spinal cord is protected by : 

(A) Cranium (B) Vertebral column 

(C) Ribs  (D) None of these 

24. Iy SlsaVk fdle sa ?kalk gksrk gS \ 1 
(A) vaM okfgdk e sa (B) ;ksfu esa 
(C) xzhok e sa (D) xHkkZ'k; e sas 
Placenta is embedded in : 

(A) Oviduct (B) Vagina 

(C) Cervix (D) Uterus 

25. czk;ksQkbye esa dfydk dgk¡ ij iSnk gksrh gS \  1 

(A) tM+  (B) ruk 
(C) iÙks  (D) mijksDr lHkh  
In Bryophyllum, the buds are produced on : 

(A) Root  (B) Stem 

(C) Leaves (D) All of the above 

26. ySafxd tu u okys thoksa e sa ,d vfHky{k.k dh thu d s fdru s izfr:i gksrs gSa \ 1 
(A) ,d   (B) nks 
(C) rhu  (D) p kj 
How many copies of a gene for same trait are there in sexually reproducing 

organisms ? 

(A) one  (B) two 

(C) three (D) four 
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27. uj vkSj eknk e sa fdrus tksM +s xq.klw= gksrs gS \ 1 
(A) 33  (B) 23 

(C) 43  (D) 46 
How many pair of chromosomes are in Male and Female ? 

(A) 33  (B) 23 

(C) 43  (D) 46 

28. dkSu-lh ijr lw;Z ls vkus okyh ijkcSaxu h fofdj.k ls i`Foh d ks lqj{kk iznku djrh gS \ 1 
(A) vkstksu (B) vkWDlhtu 
(C) ukbVªkstu (D) d kcZu MkbvkWDlkbM 
Which layer shields the surface of earth from ultraviolet radiation from the    

sun ? 

(A) Ozone (B) Oxygen 

(C) Nitrogen (D) Carbon-dioxide 

29. 'kkdkgkjh dkSu-ls iks"kh Lrj ij vkrs gSa \ 1 
(A) izFke  (B) f}rh; 
(C) r`rh;  (D) p rqFkZ 
The herbivores come at which trophic level ? 

(A) First  (B) Second 

(C) Third (D) Fourth  

30. Dyksjks¶yksjks dkcZu dk mi;ksx fd;k tkrk gS % 1 
(A) jsfÝtjsVj (B) vfXu'keu 
(C) (A) o (B) nksu ksa (D) bu esa ls dksbZ ugha 
In which of the following chlorofluoro carbons is used ? 

(A) Refrigerator (B) Fire extinguishers 

(C) Both (A) and (B) (D) None of these 

S 


